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Points to Ponder: -

Why was Shaul deprived of the kingship in consequence of his one sin, while
David’s two sins did not cost him the kingship, according to Rav Shmulevitz in
Sichot Mussar?

What is the inherent difference that he identifies between the sins of the two kings?
Think back to the first encounter between Shmuel and Shaul in Chapter 9. How
might we argue that Shmuel anticipated and tried to forestall this problem?

e Can you think of another reason why David’s sins did not cost him the kingship but
Shaul’s sin did?
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